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1. (a) 50 (x – y) = 30 (x + y)
= 5x – 5y = 3x + 3y
= 2x = 8y
= x = 4y

2. (c) 50P = 25Q
2P = Q

Then, P = 50xP2
100

x


3. (b) 
100

B50

100

A20


2A = 5B = B
2

5
A 

Required% (vHkh"V»)

%40100
B5

B.2
100

A

B


4. (a) Let the number (ekuk fd la[;k) = x
According to the question (iz'ukuqlkj)]

75
100

12

100

18
x 

= 18x = 12 × 75

= 50
18

7512
x 




Hence, required number (vHkh"V la[;k)

5. (a) 
8

1
%

2

1
12 

SyamofIncome

RamofIncome

8

9

  

  






According to the question (iz'ukuqlkj)]

Ram
9Ratio of

 Income

Shaym
8

:
:

-1

Required% (vHkh"V») %
9

1
11100

9

1


6. (c) 80% of A = 50% of B

= B
100

50
A

100

80


=  8 A = 5 B

= B
8

5
A 

Put value of A in given equation,fn, x, lehdj.k esa
A dk eku j[kus ij]
B = x% of A

1. PERCENTAGE SOLUTION

= B = 
5

8100
x




= x = 160
7. (d) According to the question (iz'ukuqlkj)]

=  y
100

80
x 

¾ y
5

4
x 

Required (vHkh"V)% = y
5
4

y

4

1005
100




= 125%
8. (a) According to the question (iz'ukuqlkj)]

y
100

4
x

100

8


= 2x  = y

= x = 
2

y

= 20% of x = 
2

y

100

20


10

y


Required (vHkh"V)% 100
10

y


9. (d) Let the number (ekuk fd la[;k) = x
According to the question (iz'ukuqlkj)]

120
100

20
x  = x  = 600

Required answer (vHkh"V mÙkj) 720
100

120
600 

Alternate (oSdfYid fof/)%

20% represents – 120, 
20

120
%1 

so, 120% = 720120
20

120


10. (a) According to the question

Required % (vHkh"V %) = 100
75

25
 = %

3

1
33

(iz'ukuqlkj)] 

x
75

x
100

+25

Required % (vHkh"V %) = 100
75

25

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   ¾ %
3

1
33

11. (c) According to the question (iz'ukuqlkj)]

36
100

P
P  3600P2  ¾ 60P 

12. (c) Required % = 100
50

2
 = 4%

13. (d) Required % = 

3

1

3

2

× 100 = 200%

14. (a) According to the question

(iz'ukuqlkj)] n
100

20
m

100

10


1

2

10

20

n

m


m : n = 2 : 1

15. (a) Required % (vHkh"V %) = 100
4

5
  ¾ 125»

Always write a : b in% = 100
b

a


16. (a) Required answer (vHkh"V mÙkj)

= 5.Rs
100100

15

3

1
10000.Rs 




17. (b) 72x
100

30


= 240
30

10072
x 




18. (d)    BA
100

25
BA

100

15


= 15A + 15B = 25A – 25B
= 10A = 40B
= A = 4 B

Required% vHkh"V % = 100
B

A


= 100
B

B4
  = 400%

19. (d) Required answer (vHkh"V mÙkj)

= 15
5

1

4

1
300 

20. (b) 150
100

x

2

25


= 1200
25

200150
x 




21. (b) 20% = 
5

1

x
6Income

y
5

:
:

–1

Required % (vHkh"V) %
3

2
16100

6

1


22. (b) 1 hour 45 min = .hr
4

7

60

45
1 

Required % = %291.7100
244

7



23. (b) Required answer

= 
 

100

40100

100

90
100




¾ 54
100

60
90 

24. (d) According to the question, (iz'ukuqlkj)

C
5

1
B25.0A

100

30


C
5

1
B

4

1
A

10

3


5

C

4

B

3
10

A



Required ratio of A : B : C = 
3

10
 : 4 : 5

A : B : C = 10 : 12 : 15
25. (a) Required percentage

= %10100
1.0

01.0


26. (a) Let the numbers are a and b where a > b.
ekuk fd la[;k, a rFkk b gS tgk¡ a > b gSA
According to the question,

(a – b) = 
100

15
 (a + b)

(a – b) = 
20

3
 (a + b)

20a – 20b = 3a + 3b
         17a = 23b

         
17

23

b

a


Required ratio = 23 : 17
27. (a) According to the question,

P
6

Q
1

:
:

–5
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Required % = %
3

1
83

3

250
100

6

5


28. (a) Required percentage = 100
2000

65
 = %

4

13

29. (c) 005.0
2100

1

2

%1





30. (b) Required % = 100
24

60

45
2













 = 
6024

100165





= 11.45%

31. (c) Required percentage = 100
9.1

14.1
 = %60

19

1140


32. (d) Required percentage = 0.001 × 100 = 0.1%

33. (d) 60% of A = 
4

3
B

B
4

3
A

5

3


4:5B:A
4

5

B

A


34. (b)    AB
100

18
AB

100

30


30B – 30A = 18B  + 18A
12B = 48A
B = 4A

4

1

B

A


= A : B = 1 : 4
Hence required ratio = 1 : 4

35. (d) Required percentage = %40100
80

32


36. (b) B
100

30
A

100

90


= 3A = B .........(i)
B = x% of A

B = 
100

x
A

= 3A = 
100

Ax
= x = 300

37. (d) 90% of A = 30% of B
90A = 30B
= B = 3A ...............(i)

B = 
100

x2
× A

3A = 
100

x2
× A

= x = 150
38. (d) Required percentage

= 
 

100
1343

1206




= 100
134

402
 = 300%

39. (a) b
100

80
a

100

120


= 3a = 2b

b
3

2
a  put value of a in given equation (fn, x,

lehdj.k esa a dk eku j[kus ij)]

5

3

b
3

b5

b
3

2
b

b
2

3
b

ab

ab












= 5
ab

ab







40. (a)    B
100

50
BA

100

20


2A + 2B = 5B
2A = 3B

B
2

3
A  Put value of A in given equation

(fn, x, lehdj.k esa a dk eku j[kus ij)]

2

1

B4

B2

BB3

BB3

BA2

BA2











41. (a)    BA
5

3
BA

5

2


2A + 2B = 3A – 3B
A = 5B
Put value of a in given equation (fn, x, lehdj.k
esa a dk eku j[kus ij)]

6

7

B6

B7

BA

B3A2






42. (d) Required percentage

= %2100
10006.3

72




43. (a) 80x100
100

125
x 

44. (b)    QP
100

30
QP

100

50


5 P – 5 Q = 3 P + 3 Q
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 2 P = 8 Q
P = 4 Q
Put value of P in given equation (fn, x, lehdj.k
esa P dk eku j[kus ij)

100

x
PQ 

100

x
Q4Q  = x = 25

Hence required value of x = 25

45. (a) 
100

40
380

100

25
120   = x × 637

= 30 + 152 = x × 637

= x
637

182
  = 

7

2
x 

= required answer = 
7

2

46. (c) Required answer

4500
9

5

100

36

100

27


47. (a) 
100

1

100

1

100

25
1000 

Required answer = 0.025
48. (a) According to the question, (iz'ukuqlkj)

100

y4

100

x8


8x  = 4y .......(i)
2x = y ......(ii)

20% of x = x
100

20


From equation (lehdj.k (i) ls)

Required answer = yof%10
2

y

100

20
  

49. (d) According to the question
A  :  B  :  C
1  :   2   :   5 (60A = 30B)











2

1

B

A

C = 5
A = 1

Required answer = 
1

5
 × 100 = 500%

50. (d) According to the question,

6

C

100

B30

100

A20


18:10:15C:B:A

9:5C:B

2:3B:A







51. (d) 50% of x = 30% of y

%50

%30

y

x


x : y = 3 : 5

52. (c) 80% = 
5

4

Note: In such type of questions to make your
calculation easier assume number which is
multiple of 5.
bl rjg ds iz'uksa esa viuh x.kuk dks vklku cukus ds fy, ogh
la[;k ekus tks 5 dk xq.kt gksA
Let the number (ekuk fd la[;k)= 5x
According to the question (iz'ukuqlkj)]









 x4

100

80
x5

4x + 80 = 5x,  x = 80
Required number (vHkh"V la[;k)
= 5x = 80 × 5 = 400

53. (b) 
3

2
%

3

2
66 

Let the income of the person = 3 units
ekuk fd O;fDr dh vk; ¾ 3 ;wfuV
Expenditure ([kpZ) = 2 units (;wfuV)
Savings (cpr) = (3 – 2) = 1 unit (;wfuV)
According to the question (iz'ukuqlkj)]
1 unit (;wfuV) = Rs. 1200
2 units (;wfuV) = 2 × 1200 = Rs. 2400

54. (b) 20% = 
5

1
, 25% =

4

1

Case (i) B   :     C
Ratio of Salaries (osruksa dk vuqikr)

 5   :  6
Case  (ii) A   :  B
Ratio of Salaries (osruksa dk vuqikr)

4   :   5
From, Case (i) & (ii)

A
4Ratio of salaries

C
6

B
5

: :

+2
Required answer (vHkh"V mÙkj)

 %50100
4

2


55. (a) 40% = ,
5

2
 20% = 

5

1

Case (i) A    :    B
7     :    5

Case (ii) B    :    C
4     :    5

A  :  B =  7  :   5
        B  :   C =
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Hence Required ratio (vHkh"V vuqikr) A : C = 28 :
25

56. (b) Girls's % (yM+fd;ksa dh %) = 70%
Boys's (yM+dks dk %) = (100 – 70)% = 30%
According to the question (iz'ukuqlkj)]
30% of students (Nk=kksa dk 30%) = 510
Total number of students in school

(fo|ky; esa Nk=kksa dh la[;k) = 1700100
30

510


57. (b) Required number of Boys (yM+dksa dh vHkh"V la[;k)

=  
60

60100

972



¾ 145860

40

972


Required number of boys (yM+dk s a dh vHkh"V
la[;k)=1458
Alternate: (oSdfYid fof/)%
Ratio of No. Boys and Girls
Boys Girls (100% – 60%)
60% 40%
3 : 2
Girls = 2 unit –— 972

           1 unit —— 486
2

972


Boys = 3 unit —— 3 × 486 = 1458
58. (d) Note: In percentage always as-sume data.

Which make your Calculation easier.
uksV%& izfr'krrk esa ges'kk mUgha rF;ksa dks ekusa tks vkidh x.kuk
dks vklku cukrs gksaA

5

3
%60 

Let the number (ekuk dh la[;k) = 5x
According to the question (iz'ukuqlkj)]

6060
5

3
x5 

¾ 40
3

120
x 

Hence, Required number = 5x  = 5 × 40 = 200

59. (c) 75% = 
5

3

Let the number (ekuk fd la[;k) = 4x
According to the question (iz'ukuqlkj)]

x475
4

3
x4 

= 3x + 75 = 4x ,  x =  75
Required number (vHkh"V la[;k)

= 4x = 4 × 75 = 300
60. (a) Let the larger number (ekuk fd cM+h la[;k) = 5x

Smaller number (NksVh la[;k) = 20 [Given ¹fn;k gS)º
According to the question (iz'ukuqlkj)]

= 5x – 20 = 
0100

20
×5x

= 5x – 20 = x
= 4x = 20
= x = 5
Hence, Larger number (cM+h la[;k) = 5 × 5 = 25

61. (c) Required answer vHkh"V mÙkj

 
100

60

40
100

40100

40





Note: For detailed solution follow the earlier given
important note.
uksV% foLrkj esa gy ds fy, igys fn, x, egRoiw.kZ uksV dks
nsa[ksA
Alternate (oSdfYid fof/)%

5

2
%40 

A
3

B
5

:

+2

Required % (vHkh"V »)¾ %66.66100
3

2


62. (d) Let the IIIrd number is 100 ekuk fd rhljh la[;k
100 gS
According to the equation (iz'ukuqlkj)]
1st IInd IIIrd
20        : 50          : 100

Required % (vHkh"V %) = %40100
50

20


63. (d) Let the third number is 100
ekuk fd rhljh la[;k 100 gS
According to the question (iz'ukuqlkj)]
Ist IInd IIIrd
75 80 100

Required% (vHkh"V%) ¾ %
4

3
93100

80

75


64. (d) According to the question (iz'ukuqlkj)]

5.137
100

10125
125y 




x = 137.5 – 
100

105.137 

x = 137.5 – 13.75
x = 123.75

65. (a) Percentage of girls in school = (100 – 70) =
30%
According to the question (iz'ukuqlkj)]
30% of students = 504

Required number of boys = 70
30

504

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= 168 × 7 = 1176
Alternate:
Boy : Girls
70 : 30
7 : 3

 ×168  ×168

1176 504
Hence required number of boys = 1176

66. (c) Let the third number = 100
According to the question (iz'ukuqlkj)]

I
120

st I
150
Ind I

100
IIrd

+20%

+50%

Required answer = 100
150

120
 = 80%

67. (d) Let the third number = 100
According to the question (iz'ukuqlkj)]
Required percentage (vHkh"V»)

%90100
125

5.112


68. (c) According to the question (iz'ukuqlkj)]

100

B
75

100

A
60  = 4A = 5B

B = 
5

4
A

A × 80xA
5

4

100

x


69. (a) Let the numbers are 2x and 3x respectively
ekuk os nksuksa la[;k,¡ 2x o 3x gSA
According to the question (iz'ukuqlkj)]


















 25

100

10
x320

100

20
x2

25x
10

3
20x

5

2


5x
5

2
x

10

3


3x – 4x = – 50 = x = 50
Hence, required smaller number

= 2x  = 2 × 50 = 100
70. (c) Let the third number = 100 units

I  num
st

120
: :I  numI

nd

150
I  numII

rd

100

+20%

+50%

Required Ratio = 120 : 150 = 4 : 5
71. (b) Let the number be x

= Required answer = 374.4
72. (c) Income of the person = Rs. 13,500

Expenditure of the person = Rs. 9, 000
Savings of the person = Rs. (13,500 – 9000)

= Rs. 4500

14%

Expenditure
7%

9000
2

:
:

Ratio of Expenditure
and savings——

Savings
x%

4500
1

Hence, required increase in savings = 28%
Alternate:
First of all find the ratio of income, expenditure
and Savings
Income : Expenditure :
Saving
13,500 : 9000 : 4500
3 : 2 : 1

Expenditure
200– =

214

+7%

Let the Income
300

342New

+14%

:

–

:

=

Saving
100

128

+28

% change in savings = %28100
100

28


73. (c) Let the large number is a and the smaller
number is b.
ekuk fd cM+h la[;k a gS rFkk NksVh la[;k b gSA
According to the question,

(a – b) = 
100

45
(a + b)

20a – 20b = 9a + 9b
11a = 29b

11

29

b

a


Required ratio of a : b = 29 : 11
74. (a) Let the number = x

According to the question,

 
225

100

25100x




300
75

100225
x 




Required percentage = 
 

100
300

300375



= 25%

75. (c) Let the greater and smaller number is a and b
respectively ¹ekuk fd cM+h la[;k rFkk NksVh la[;k Øe'k%
A rFkk B gS)
According to the question (iz'ukuqlkj)]

Case (i) 
100

60
b

100

40
a 

2a = 3b
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b
2

3
a 

Case (ii) a  + b = 150 .............(ii)
From equation (i) and (ii)

150bb
2

3


5b = 300 = b = 60
Value of b = 60 put in equation (i)

a = 9060
2

3


Hence greater number = 90

76. (d) 10

B

11

A

Height

–1

 









10

1
%10

Required percentage = 100
11

1
  = %

11

1
9

Alternate:
By using formula.

Required percentage = 100
11

1
 = %

11

1
9

Alternate:
By using formula.

Required percentage =  
100

10100

10




= 
110

1000
= %

11

1
9

11

100


77. (c) According to the question (iz'ukuqlkj)]
10A = 15B = 20 C

A : B : C = 300 : 200 : 150
A : B : C = 6 : 4 : 3
(6 + 4 + 3) units = Rs. 7800

13 units= Rs. 7800
1 unit = Rs. 600
4 unit = Rs. 600 × 4 = Rs. 2400

78. (a) Let the number be x.
According to the question (iz'ukuqlkj)]

36
5

3

100

60
x 

36
5

3

100

60
x 

= 100x
9

2536
x 




79. (b) Required percentage

=  
100

50100

50




= %
3

1
33100

150

50


B
2

:
:

A
3

–1

Alternate:- 
2

1
%50 

Required percentage = 100
3

1
 = %

3

1
33

80. (b) Required percentage

=  
100

25100

25




=  
%20100

25100

25




Alternate:- 
4

1
%25 

Papiya
4

:
:

Nita
5

–1

Required percentage = %20100
5

1


81. (d) 50% = 
2

1

Let Z has 2 units of money
ekuk fd Z ds ikl 2 ;wfuV :i;s gS
According to the question,
X : Y : Z
6 : 3 : 2

 
3

236 
Units = Rs. 330

= 11 units = Rs. 330
1 unit = Rs. 30
6 units = 30 × 6 = Rs. 180
Hence, X had Rs. 180.

82. (c)

Required percentage =  
100

25100

25




Alternate: 25% = 
4

1

Y
4

:X
5

–1

Required percentage = %20100
5

1


83. (a) Salary of Tulsiram = Rs. 100
4

720
 = Rs. 18,000

Salary of kashyap = 
120

100
18000  = Rs. 15000



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 22 ]

THATHAGAT

IN
STITUTE

84. (a) Let the third number = 100

III
100

rdI
63
IndI

70

st

–7

Required percentage = 
10

7
×100 = 10%

85. (d) Required percentage

=  
100

25100

25




= %20100
125

25


Alternate: 25% = 
4

1

Required percentage = 100
5

1
 = 20%

86. (c) Required percentage

=  
100

3

1
100

25100

25



 = %

3

1
33

Alternate: 25% = 
4

1

B
4

:A
3

+1

Required % = 
1

3
× 100 =  

1
33

3
%

87. (b) 40% = 
2

5
, 25% = 

1

4

A    :      B  =  2 :  5
A    :      C  =  5 :  4

A  : B : C    =  10 : 25 : 20

Required % = 
10

10
 ×100 = 100%

88. (b) Required percentage

= 
50

100 50( )
 ×100

= 100

Alternate :  50 % = 
1

2

A 
1

+1 

: 
: 

B
2

Required % = 
1

1
×100 = 100%

89. (a) Required percentage

=  
25

100
100 25( )




= 20%

Alternate:-25% = 
1

4

A 
5

-1 

: 
: 

B
4

Required  percentage = 
1

5
×100

= 20%

90. (a) 60% = 
3

5
,  20% = 

1

5

A    :      B  =  8 :  5
B    :      C  =  4 :  5

A  
A  

: 
: 

B : C    
C    

=  
=  

32 
32 

: 
: 

20 : 25
25

91. (a) Percentage of failed students
= (100 – 93)% = 7%
According to the question,

7%  259

1%  37

100%  3700

Total students = 3700

92.(b) Required percentage =
22

24
× 100

= 
275 2

91
3 3

 %

93. (d) According to the question,

30 40 80

100 100 100

A
B= B

30A = 40B   3A = 4B   A =
4

3
B

Required % = 
B

A
×100 = 

4

B×3

B
×100

                                     = 75%
94. (d)

Let the third number = 100

:

60

I
st

I : III
rd

80 100

I
nd

–20

Required percentage = 
20

80
×100

                                   = 25%
95. (a) Let the number = x


1

3
×x = 96

  x = 288

 Required answer =
67

100
×288

                                  = 192.96
96. (b) According to the question,
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x × 
100 100

a b
y×

x a = yb   b = 
xa

y

Put value of b in given equation (fn, x, lehdj.k esa b
dk eku j[kus ij),

z% of b = z% of 
xa

y  = 
zx

y  % of a

97. (a) 1 hour = 60 min.

1 min + 12 sec = 1 + 
12

60
 = 

6

5
min

According to the quesion,

60 × 
6

100 5

y
    y = 2

98. (c) Matches won by team (Vhe ds }kjk thrk x;k eSp) = 24

Required percentage = 
24

40
×100

                                   = 60%
99. (c) Let the first and second part of a number is a

and b respectively.

ekuk fd ,d la[;k ds igys rFkk nwljs Hkkx Øe'k% a rFkk b
gSA
According to the quesion,

Case : (i) 
80 60

100 100
a– b=3

8a – 6b = 30 ..... (i)

Case : (ii) 
80 90

100 100
b– a=6

8b – 9a = 60 ..... (ii)
From equation (i) & (ii)
a = 60, b = 75
Hence required number =
(a + b) = (60 + 75)

               = 135
100. (c) Let the numbers = x

According to the questions,

x – 15 = 
18

100

x

x – 15 = 
4

5

x

5x – 75 = 4x
x = 75

Required answer = 75 × 
40

100
= 30

101. (c) Let the number = x
According to the question,

x – 
17

100

x
 = 498

100x – 17x = 49800
83x = 49800

x = 
49800

83
= 60047

102. (d) Let C = 100 units
According to the question,

A : B  : C
150 : 125  : 100

6

+1

5
Ratio of 
numbers

Required percentage =
1

5
×100= 20%

103. (d) Let x to be added,
According to the question,

160 ×
15

100
+ x = 240 × 

25

100

x = 36
Hence required number = 36

104. (b) Let the number = x

x  × 
90

100
  = 30

  x = 
100 1

33
3 3



Hence required number = 
1

33
3

105. (a) According to the question,

15 20

100 100
x y

  15x = 20y

20 4

15 3
 

x

y

x : y = 4 : 3
106. (b) Marks obtained by D = 320

Marks obtained by C = 320 × 
125

100

                              = 400
Marks obtained by B = 400 ×

100 10

100

( )
= 360

Marks obtained by A = 360 × 
125

100

                             = 450

Hence, required marks obtained by A (A dk vHkh"V
izkIrkad) = 450

107. (c) 
1

22
2

% =  
45 9

200 40


40  

×2 ×2 

80  98  

49  

Hence required number = 80

108. (a) 75% = 
3

4

 Let the number  (ekuk la[;k) = 4x

 According to the question, (iz'ukuqlkj)

 4x × 
3

4
 + 75  = 4x

 x = 75
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 Number = 75 × 4 = 300

 Required answer = 300 × 
40

100
 = 120

 Alternate: 75% = 
3

4

3 + 1  4
75 %       100%
1 unit    75
4 unit    300

 40% of no. = 
300 40

100


 = 120

109. (a) Let the number = x
According to the question,

x + 320 × 
10

100
= 230 × 

30

100

x + 32 = 69
x = 37
Hence, required number = 37

110. (a) 20% = 
1

5
 = 

4

5

X : Y
4 : 5

  Let X = 4a
Y = 5a

 Hence,  
y-x
y  = 

5a - 4a
5a

 = 
a

5a
 = 

1

5

 4
4

4a 4a
a - 5a a

   


x

x - y

 Hence required answer = 
1

4
5
,

 
  

111. (a) Required number of literate people (lk{kj yksxksa dh
vHkh"V la[;k)

= 6600 × 
30

100

= 1980
112. (d) Required Answer

 = 
50 1

100 33
100 50 3( )

 


Alternate :- 50% = 
1

2

 

A 
3

-1 

: 
: 

B
2

Required Answer = 
1

3
×100 = 

1
33

3
%

113.(a)
According to the question,

5

100
A+

4

100
B = 

2

3

6 8

100 100

A B 
 

 

5A + 4B = 
2

3
 (6A + 8B)

15A + 12B = 12A + 16B
3A = 4B

4

3

A

B
   A :B = 4 : 3

114. (b) To get back to the original number it is to be

reduced by(vkjafHkd la[;k izkIr ds fy, bls de djuk gksxk),

=
100( )

x

x
× 100%

=
100

100( )

x

x
%

115. (d) Let the number is = x
According to the question,

1

5
of 

1

2
of x = 20

1

5
× 

1

2
x = 20

x = 200

 20% of 200 = 
20

100
× 200 = 40

116. (b) According to the question,

  90 × 83
1

3
% = x × 60%

  x = Rs. 125

117. (b)  x × 
51

100
= 714

x = 1400

 25% of x = 1400 × 
25

100
= 350

118. (c)

20%
1

5

Increase in price 

Initial Price 

(ewY; esa of̀¼)
(vkjfa Hkd eYw ;)

Initial Price Final Price

5

–1

6
(vkjafHkd ewY;) (vafre ewY;)

Hence, Required reduction =
1

100
6

 
  

= 16
2

3
%

vr% vHkh"V dVkSrh =
1

100
6

 
   = 16

2

3
%

;fn phuh dk ewY; 20% c<+ x;k gks rFkk [kpkZ vifjofrZr jgs
rks ekuk phuh dk vkjafHkd ewY; 5 : ñ gS rks u;k ewY; 6 : ñ
gks x;k rks ge ml dk dqy [kpZ eku ysrs gSa tks 5 o 6 nksuksa ls
Hkkx gks tk, vFkkZr~ 5 o 6 dk LCM = 30 : ñ

Rs.30

6 Kg. 5 Kg. (Ratio of 
consumption)

5 Rs./Kg 6 Rs./Kg (Ratio of 
Price)

48
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vr% ;fn [kpkZ leku j[kuk gks rks ftl vuqikr esa ewY; esa ifjorZu
gksxk ml ds myVs vuqikr esa [kir esa ifjorZu gksxkA
vr% bl izdkj ds iz'ukas dks djus dk lcls rjhdk ; g gS fd
vkjafHkd ewY; (Initial Price) esa 100 : ñ eku ysa rFkk ewYk
[kir (original consumption) 1 fdyksxzke
eku ysa rks bl izdkj ewYk [kpZ (Original Expenditure) 100

: ñ gks tk,xk rFkk bl izdkj tks ifjorZu ewY; esa gskxk ogh
ifjorZu [kpZ esa gh gskxkA D;skafd [kir dks rks geus 1 fdyksxzke
gh ekukA
vr% ewYk [kpZ

100

120

–20

20 2
100 16

120 3
% 

Note: (i) If the price of a commodity decrease by
r%, then increase in consumption, so as not to
decrease expenditure on this item is
(ii) If first value is r% more than the second value,
then the second is

100
100

r

r

 
  

% less than the first value.

uksV% (i) ;fn fdlh oLrq dk ewY; esa r % dh deh gksrh gS] rks

[kpZ esa dksbZ deh u gks bl ds fy, miHkksx 100
100

r

r

 
  

%

dks c<+kuk gksxkA
(ii) ;fn izFke eku] nwljs eku ls r % vf/d gks] rks nwljk eku]

igys eku ls 100
100

r

r

 
  

% de gksxkA

Alternate (oSdfYid fof/ )%
Required answer (vHkh"V mÙkj)

= 
20 2

100 16
100 20 3( )

 


%

119. (b) Required answer (vHkh"V mÙkj)

=
20 2

100 16
100 20 3( )

 


%

Alternate (oSdfYid fof/ )

Initial Salary Final Salary
5

–1

6

   
1

20
5

%
 

  

Required % (vHkh"V %) =
1

10
6
 =

2
16

3
%

120. (a) Required answer (vHkh"V mÙkj)

= 
10 100 1

100 9
100 10 11 11

% %
( )

  


121. (d) Required % (vHkh"V%)

= 
10

100
100 10( )




= 
10

100
90



= 11
1

9
%

Alternate:

Initial Price New Price
10

+1

9

Required % = 
1 1

100 11
9 9
  %

122. (a) Required % (vHkh"V%)

= 
25

100
100 25( )




 = 20%

123. (a)
Note: If the value of a number is first increased by
x% and later decreased by x%, then net change is

always a decrease which is equal to 
100

2x
%

uksV% ;fn fdlh la[;k dk eku igys x % c<+k fn;k tkrk gS vkSj
ckn esa fiQj x % ?kVk fn;k tkrk gS] rks la[;k ds eku esa ges'kk

100

2x
% ds cjkcj deh gksxhA

Hence, Required change in salary

(osru esa vHkh"V ifjorZu) = 
220

100

( )
= 4% Decrease

124.(c)
Note:- In such type of questions to save your
valuable time you can use below given formula.

uksV% bl rjg ds iz'uksa esa vius le; dh cpr ds fy, vki uhps
fn, bl fu;e dks viuk ldrs gSaA

100

XY
Net effect% = X + Y + 

Always use +ve sign for increment
– ve sign for decrement

Required answer = 20 – 10 –
20 10

100



                         = 10 – 2
                               = 8%

Hence, Net q% Increment = 8%
125.(c) Net % effect on revenue

= – 10 + 10 – 
10 10

100



= – 1%
Hence % reduction in Revenue = 1%
Alternate:

% Reduction = 
210

100 100

2x ( )
 =1%

126. (b) 10% = 
1

10
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Initial  price         :              Final Price
     10                   :                     11
     10                   :                     11

    100                                        121

-21

 % Reduction = 
21

100
121



 = 
2100

121
 = 17.36%

127. (a) 25% =
1

4
, 20% = 

1

5

Initial Price Final Price

4

5

20

3

6

18

××

:

:

:

:

–2

% decrement = 
2

100
20

 = 10%

Alternate:- By using below given formula,

% Net effect = x + y + 
100

xy

% Change = –25 + 20 – 
25 20

100



% Change = – 10%
Note:-Negative sign shows decrement.

uksV% udkjkRed ladsr voewY;u dks n'kkZrk gSA
Hence Required decrement = 10%4

128. (d) % decrease = 
100

2x ==  
210

100

( )
 = 1%

 Alternate:- ==

9   

Initial  :              Final 
     10                   :                     11

     10                   :                     9

99100

-1

129. (b) 20% = 
1 4

5 5

Final

initial






Initial wages Final wages
5

+1

4

Required percentage

= 
1

100
4
  = 25%

Alternate :

Required answer =
20

100 20( )
×100

                        = 
20

100
80

 = 25%

Note:- By using formula, 100
100

r

r( )
 

  

130. (b) Required answer = 
10

100
100 10( )




= 
100 1

11
9 9

 %

131 (a) 20% = 
1

5

Initial Final 

5

5

25

6

6

36

××

:

:

:

:

–11

Required percentage of reduction

= 
11

100
36



= 
275 5

30
9 9

 %

132. (d) 25%=
1 5

4 4

Final employees

Initial employees






25% = 
1 3

4 4

Final wages

Initial wages






Initial Final 

4

4
16

5

3

15

××

:

:

:
:

–1

Employees

Wages

Required reduction = 
1 25

100
16 4

  %

133. (d) r% = 
100

r

10000 100 100( )( ) 

Initial Price         Final

     100               (100 + r)

     100               (100 – r)

r r

According to the question,
(100 + r) (100 – r) units = ` 1
(10000 – r2) units = ` 1

1 unit = 
1

1000

 
   2r

Original Price (okLrfod ewY; )= 
1

10000

 
   2r

134. (d) Required percentage of reduction
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(dVkSrh dk vHkh"V izfr'kr)

= 
25 25

100 100
100 25 125( )

  


= 20%

Alternate:- 25% = 
1

4

Initial Final 

4 5

–1

Price

Required percentage reduction

= 
1

5
× 100 = 20%

135. (b) Let the original number(ekuk fd okLrfod la[;k) =
x

According to the question(iz'ukuqlkj),

x × 
90 110

110 100
 = (x – 50)

x × 
99

100
 = x  – 50

99x = 100x – 5000
x = 5000
Hence original number = 5000
Alternate:

Original New 

10

10

100

9

11

99

–1

According to the question(iz'ukuqlkj),
1 unit = 50
100 unit = 50 × 100= 5000
Original number = 5000

136.(c) Let the initial expenditure = 100 units

100

90

–10%+10%

10 1 10

90 9 9


 



 New Price

Original Price

Reduced price = 
837 837

10 6 2 62.




=`13.50/kg.

137. (c) 20% = 
1

5

Initial Final 

5

×6

6

×5–1

30 30

Price

consumption

expenditure

Required Rate = 1:6
Alternate :
Let Initial expenditure = ` 100

100

120

+20%–20%

Required ratio = 20:120 = 1:6
138. (b) By using formula,

% decrease = 
100

2x

x = 20%

% decrease = 
20 20

100


= 4% decrease

139.(b) Required reduction in consumption

(miHkksx esa vHkh"V dVkSrh)

= 
15 15

100 100
100 15 115( )

  


= 
300 1

13
23 23

 %

Alternate:- 15% = 
3

20

Initial Final 

20 23

–3

% Reduction = 
3

100
23



                   = 
300 1

13
23 23

 %0

140. (b) Required Reduction in price

(ewY; esa vHkh"V deh)

= 
20 20

100 100
100 20 120( )

  


                       = 
2

16
3

%

Alternate: 20% = 
1

5

Initial Final 

5 6

–1

% Reduction = 
1 2

100 16
6 3
  %

141. (c)

Required answer = 10 + 20 + 
10 20

100



= 10 + 20 + 2 = 32%

Alternate: 10% = 
1 1

20
10 5

, %

Initial Final 

10

5

1

6

50 66

+16
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Required percentage increase

= 
16

100
50

 = 32%

142. (c) Decrease in area = 
100

2x
% = 

210

100

( )
 = 1%

Alternate:
Initial  :              Final 
     10                   :                     11

     10                   :                     9

99100

-1

% decrease in area = 
1

100
×100 = 1%

143. (b) Required percentage

= 
20

100
100 20( )




= 25%

Alternate: 20% = 
1

5

A :

:5

+1

B

4

Required % = 
1

100
4
  = 25%

144. (c) 10% = 
1

10

Initial Final 

10

10

9

11

100 99

–1

Required % reduction = 
1

100
100



                                     = 1%

Alternate:Net Reduction = 
2

100

x

                                    =
210

100

( )

                                          = 1%

145. (b) % change = 100
100

%


R

R

Required answer = 
50 1

100 50 3( )




146. (d) % change = 100
100

%


R

R

Required answer = 
40

100
100 40( )




= 
40 200 2

100 66
60 3 3

%  

147.(b) % change = 100
100

%


R

R

Required percentage = 
25

100
100 25( )




                                  = 20%

Alternate: 25% = 
1

4
Initial Final 

4 5

–1

% reduction = 
1

100
5
  = 20%

148. (b) 25% =
1

4
,   30% = 

3

10
Initial Final 

4

10
40

3

13

39

××

–1

Price

Sale

% decrease = 
1

100
40



                 = 
1

2
2

%  decrease.

149. (b) Let the initial expenditure
= 100 units

100

80

–20%+20%

Increase in consumption = 
20 1

80 4


                                  =
5

4





New

Original

Original Price = 
36 1000

4 500





                     
500

500
1000

 
 
 

gm = kg

Original Price = ` 18/kg.
150. (c) By using formula

x = 25% Net decrease = 
100

2x
%

Net decrease =  
225

100

( )
= 

625

100
 = 6.25%

Alternate:- 25% = 
1

4

Initial  :              Final 
     4                   :                     3

:                     54

1564

-1

% decrease = 
1

16
×100 = 

100

16
= 6.25%


